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: 6 �§rm�

𝐹 �� ºz� 𝐵 ¤ 𝐸 �� ºz� 𝐴 �ky�

𝐶𝐴
𝐸 × 𝐶𝐵

𝐹 ⊂ 𝐶𝐴×𝐵
𝐸×𝐹 :  � �y� /1

𝐶𝐴×𝐵
𝐸×𝐹 = (𝐸 × 𝐶𝐵

𝐹 ) ∪ 𝐶𝐴
𝐸 × 𝐹 :  � �y� /2

: 7 �§rm�

𝐷 = {(𝑥, 𝑦) ∈ R2/𝑥2 + 𝑦2 ≤ 1} �ky�

�yt�wm�m� ¨�CAk§ º�d�� 𝐷 T�At� �km§ ¯ ¢�� �y�

R ��

: 8 �§rm�

: Tm\n�� 𝒫(𝐸) ¨� �kt�

(𝑆)

⎧⎪⎨⎪⎩𝐴 ∩ 𝑋 = Ø

𝐵 ∩ 𝑋 = Ø

𝐵 ⊂ 𝐴 :  A� �Ð� ¯� ®� �bq� ¯ (𝑆) Tm\n��  � �y� /1
𝐵 ⊂ 𝑋 ⊂ 𝐴 : �y� 𝑋 º�z�±� ¨¡ (𝑆) �wl�  � �y� /2

: 9 �§rm�

𝐸 T�wm�� �� º�z�� 𝑋 ¤ 𝐵, 𝐴 �kt�

𝑋 = (𝐴 ∩ 𝑋) ∪ 𝐴 ∩ 𝑋 :  � �y� /1
𝐴 ∩ 𝑋 = 𝐴 − 𝐵 :  �� 𝑋 ⊂ 𝐵 :  A� �Ð� ¢�� �y� /2

: Tm\n�� �wl� ��ntF� /3

�wh�m�� w¡ 𝑋 �y�

⎧⎪⎨⎪⎩𝐴 − 𝑋 = 𝐵

𝑋 − 𝐴 = 𝐶
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: ¨l§ A� �y� . 𝐸 �� �y¶z� 𝐵 ¤ 𝐴 �ky�

𝐴 ⊂ 𝐵 ⇐⇒ 𝒫(𝐴) ⊂ 𝒫(𝐵) /1

𝒫(𝐴 ∩ 𝐵) ⊂ 𝒫(𝐴) ∩ 𝒫(𝐵) /2

𝒫(𝐴) ∪ 𝒫(𝐵) ⊂ 𝒫(𝐴 ∪ 𝐵) /3

: 1 �§rm�

: �yOft� �yty�At�� �yt�wm�m�� 	t��

𝐴 = { 2𝜋 ¤

√
2 �y� ­CwO�m�� Ty`ybW�� T�y�O��  �d�±� }

𝐵 = {𝑥 ∈ R/∃(𝑛, 𝑝) ∈ N × N, 𝑥 =
𝑛

𝑝
, 1 ≤ 𝑝 ≤ 2𝑛 ≤ 7}

: 2 �§rm�

: ¨l§ A� �y� 𝒫(𝐸) �� 𝐵 ¤ 𝐴 �kt�

𝐴∖𝐵 = 𝐴 ∩ 𝐵 /2 𝐴 = 𝐴 /1
𝐴 ⊂ 𝐵 ⇔ 𝐴 ∩ 𝐵 = 𝐴 /3

𝐴 ∩ 𝐵 = 𝐴 ∪ 𝐵 ⇔ 𝐴 = 𝐵 (𝑖) /4
𝐴 ⊂ 𝐵 ⊂ 𝐶 ⇔ 𝐴 ∩ 𝐵 = 𝐵 ∪ 𝐶 (𝑖𝑖)

𝐵 ∪ (𝐴∖𝐵) = 𝐴 ∪ 𝐵 /6 𝐴∖(𝐴∖𝐵) = 𝐴 ∩ 𝐵 /5
(𝐴 ∪ 𝐵) × 𝐶 = (𝐴 × 𝐶) ∪ (𝐵 × 𝐶) (𝑖) /7

(𝐴 ∩ 𝐵) × (𝐶 ∩ 𝐷) = (𝐴 × 𝐶) ∩ (𝐵 × 𝐷) (𝑖𝑖)
𝐴 ∪ 𝐵 = 𝐴 ∩ 𝐵 ¤ 𝐴 ∩ 𝐵 = 𝐴 ∪ 𝐵 /8

(𝐴∖𝐵) ∪ (𝐵∖𝐴) = Ø ⇔ 𝐴 = 𝐵 /9

: 3 �§rm�

𝐸 T�wm�� �� �y¶z� 𝐵 ¤ 𝐴 �kt�

𝐴 M 𝐵 = (𝐴 ∪ 𝐵) − (𝐴 ∩ 𝐵)
𝐴 M 𝐵 = (𝐴 ∩ 𝐵) ∪ (𝐵 ∩ 𝐴) :  � �y� /1

𝐴 M 𝐸 , 𝐴 M 𝐴 , 𝐴 M Ø , 𝐴 M 𝐴 : 	s�� /2
(𝐴 M 𝐵) ∩ 𝐶 = (𝐴 ∩ 𝐶) M (𝐵 ∩ 𝐶) :  � �y� /3
(𝐴 M 𝐵) ∪ 𝐶 = (𝐴 ∪ 𝐶) M (𝐵 ∪ 𝐶) :  � �y� /4

𝐴 M 𝐵 = 𝐴 M 𝐵 = 𝐴 M 𝐵 :  � �y� /2
𝐴 = 𝐵 = Ø ⇔ 𝐴 M 𝐵 = 𝐴 ∩ 𝐵 :  � �y� /3

: 4 �§rm�

. �A�wm�� �®� 𝐶 ¤ 𝐵 ¤ 𝐴 �kt�

:  � ��nts�  � �km§ �h� 𝐶 ⊂ 𝐴 ∪ 𝐵 An§d�  A� �Ð�

𝐶 ⊂ 𝐵 ¤� 𝐶 ⊂ 𝐴

: 5 �§rm�

𝐸 = {𝑎, 𝑏, 𝑐} : T�wm�m�� º�z�� T�wm�� 𝒫(𝐸)  d�

dm�� Cwns��




